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osa 100 N/mm?

P2 P3
ock
SD345
ock 40N/mm? SD490
9 x 13
osa 100 N/mm? 1
P2 P3
-5
(1,750kN) 5 000KN (1,750kN)
1 JL )
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5,000kN
(1,100kN)
@ ®)
-5
-2
P2 P3 P2 P3

M kN m 971,403 948,172 713,732 686,236
S kN 14,718 15,510 9,955 9,952
N kN 205,327 162,568 203,445 162,507
oc oca| N/mm?|9.5 13.3|8.9 13.3|7.7 13.3|7.0 13.3
os osal|N/mm?| 72 100 98 100 20 100 39 100
M kN m | 2,260,864| 2,289,336| 2,003,220| 2,027,425
L S kN 54,748 55,914 49,985 50,357
N kN 203,216 159,724 201,343 159,663
oc ocal| N/mm?|18.7 20.0[18.3 20.0/16.9 20.0/16.5 20.0
os osal| N/mm?| 390 375 | 427 375 | 327 375 | 370 375
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